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Extreme Value Theorem

Fermat's Theorem

Rolle's Theorem

Mean Value Theorem
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This doesn't tell you where c is. It just tells you there is a ¢ that satisfies the conclusion.
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Extreme Value Theorem
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This is huge for finding where a differentiable function achieves a max/min. We're using the
converse of the theorem to do so.
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Converse of "A implies B" is "B implies A."

These two are not equivalent. I can't make it rain by using an umbrella.

Contrapositive of " A implies B" is "NOT-B implies NOT-A."

If I'm not using an umbrella, then it's not raining.

October 07, 2025
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Mean Value Theorem
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As with Rolle's, there's no single formula to find c. You just know thereis a c.

This is the end of new stuff for the Midterm.
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6. (5pts) Let j'(x) =x'—6x" +5x—4Find ¢ €(0,4) such that f'(c) equals the average slope of fover

the mterval How did you know such a ¢ existed before you started?
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